G-CAR

Tune-Up Manual

E. F. Bavis & Associates, Inc.

201 Grandin Road
Maineville, Ohio 45039
(513) 677-0500

Copyright 2011 E. F. Bavis & Associates, Inc. Revised 02/02/2011
All Rights Reserved P/N 00611021






G-Car Tune-Up

Table of Contents
(OF: 10 110 0 ST TO S PTP PP PRPR 1
MAEEITALS LLESE ...t 1
SCOPE OF WOTK ...t 2
INSEIUCTIONS ..t 3,4
Tape Preparation DIAGIAM ..........couoieiiiiirisierieeee e 4
Shift Point Adjustment ProCEAUIE ..........cccveviiiieiieiecc et 5
Carrier InsStallation DIAGIAM .........coviiiiiiiiieieieee e 6
Stabilizer Adjustment ProCEAUIE ........ccviveiiiiice et 7
Door AdJUSEMENT PrOCEAUIE .......ccuviiiiiieeitesieseeee et 8
Tape MouNting DIagram.........c.ccveiieiiiiccie ettt ns 9






Cautions

Do not lubricate the tape or tape track with anything. Using WD-40 or equivalents
will permanently damage the machine.

Do not remove the drive motor from the vertical tube. This manual details the
proper method for removing and replacing the drive tape.

Do not use tape to hold the brake release button down for long periods of time.
This will cause overheating and possible damage to the brake.

Use the proper screws as described in the instructions.

Install screws in all of the original factory locations.

Bill of Materials
00611021 G Car Tune-Up Instructions 1
00750011 G Car Manual 1
02908213 Screw-In Mic Windscreen 1
04071011 CC “O” Ring 2
04088051 G Car Liner Top & Bottom 2
04167012 WG Lubricant Warning Label 1
04191011 Blue / Green Grease 1
06820191 CC Tape Cut to Length 1
93152724 8-32 x 15/16 W/ Locking Patch 2
93202723 8-32 x 1-1/4 W/Locking Patch 2
95005071 Ya” E Clip 2




Scope of Work

For a standard tune-up, the following work needs to be done:
Inspect the machine.
Remove and replace the drive tape.

Clean and lube where needed

Inspection of the Captive Carrier TransTrax®

Inspect the machine for visible signs of damage.

Does the carrier travel in slow speed on the vertical, the turn sections, and the airlock?
Does the carrier travel in high speed in the horizontal section? If it does not, please see
the service and installation manual for instructions on how to adjust the speed shift
points.

Are the ceiling trims anchored to the ceiling?

Does the carrier stop properly on the inside, at car and truck on the outside?

Any unusual noises?

If there is damage or problems please consult with the factory. The telephone number is
(800) 937-3322



10.

11.

12.

13.

14.

15.

Instructions

Remove the flat head screw(s) that hold the speaker panel to the customer vertical tube. The
speaker panel can hang by the speaker lead.

Go inside and send the carrier to the car position outside. Turn the power off on the inside
control assembly.

Open the right door of the inside vertical standoff. The door is hinged; removing the two
screws will allow the door to open.

On the front side of the tube, insert a screwdriver into a slot in the drive tape.

Press and hold the brake release button on the brake board located on the right door of the
inside vertical standoff (see page 5).

Push up on the screwdriver pushing the tape up. Observe the carrier outside as it lowers. Do
not let the carrier hit the island. Do this until the carrier disengages the drive sprocket.

Go outside and pull the drive tape completely out of the unit.

Remove the screws that attach the carrier to the drive tape

Check the stabilizer adjustment (see page 7).

Remove the “E” clips that hold the large tape block assembly in place. Remove the assembly
by twisting it diagonally in the bracket and then gently bowing the end of the bracket away

from the end of the axel until it is free.

Remove the brass wheels from the tape block assembly. The axles should be cleaned and lubed
with the blue/green grease provided.

Replace the old “O” rings with the new ones provided. Put the brass wheels back on the tape
block and make sure that the wheels spin freely.

Reassemble the tape block assembly to the car. Refer to the diagram on the bottom of the car
so that the tape block assembly is in the right direction. Bow the end of the bracket and slide
the tape block in diagonally until it snaps into place. Reinstall the “E” clips provided.

Inspect the carrier for worn or damaged parts. If the car doors need adjusting, please refer to
the instructions on page 8. If the liners are damaged, replace them with the ones provided.

Use the old drive tape to measure and cut the new drive tape.



16.

17.

18.

19.

20.

21.

22,

23.

24,

25.

26.
27.

Bevel the ends of the new drive tape with a file (see the diagram on page 4).

Mount the carrier to the new drive tape. See page 9 on how to do this. Make sure that the
tape block holes are not stripped out. If they are, consult the factory for new tape blocks.

Feed the new drive tape back into the unit until you feel the drive tape stop.
Go to the inside and press the power button of the inside control assembly on.
Insert a screwdriver into a slot in the new drive tape.

Press and hold the brake release button on the brake board.

Pull down on the screwdriver feeding the tape around the drive sprocket. Continue to do this
until the carrier is resting on the stabilizers outside. Be careful that the carrier is not caught on
the speaker lead. Also make sure that the carrier lever is pushed in to allow the carrier to be up
the customer unit past the outside stabilizer (see the diagram on page 6).

Recall the carrier.

Run the machine and observe for proper operation. Note: If the carrier started out above the
stop switches, it will not shift into high speed. Simply run the carrier again and it should
change speed.

Check the shift point adjustment (see page 5).

Replace the customer speaker panel and close the right standoff door.

If the unit does not have a lubricant warning label on the inside vertical control, Install the
one provided with the kit.

TAPE PREPARATION

TRIM AND THEN REMOVE
BURR FROM CUT EDGES /

/
/

>OODOOOOODDDDOO??@DDDDOOOOODDDE

TAPE-CLEANING END TAPE-FINISH END
USE ONLY FOR CLEANING BEFORE THE NEW TAPE (BOTH ENDS OF TAPE)
IS INSTALLED, THEN RESHAPE TO FINISH END.



|

/-
J

TIvO3Y ||

NNY ISVIHO3A OL MOD ANV
NNY ISVIHONI OL MO NdNL

anas

NI
1Nno

440 Ol 13S STHOLIMS
HL1049 ONILL3S TVINYON

Shift Point Adjustment Procedure

ANIL NN
V10l 3IA04V O3S
0T 13S XVIN 'O03S S
H3NIL 904 HOLVYM

)

NNY

"3AON 90C NI d33dS MOTNNY ATINO T1IM dvD
SNOILONYLSF0 d3HLO JO MOVHL NO ONIONVH Sl 3dVL J0 dvD 41 33S OL LNO ANV NI dvO NNY OL 90C 3HL 3sn

'SNIAVY 1O Y00TdIV IHL LI ON LNd NOILO3S TVINOZIHOH

3HL NI ATNO @33dS HOIH NI SI 431d4VvD JHL 1VHL OS AYVSS3OAN SV LSNCAvAd ‘MOOTdIV IHL SY3LINT 11 340439 MOTS

OLNI XOVA S14IHS "3144VD FHL 1VHL 3AY3SE0 'sNIdvd 43N0LSND 3HL 40 LNO S3INOD LI 4314V A33dS HOIH OLNI S14IHS 11
‘3AISNI FHL OL 3AISLNO FHL NOHH ONITIAVHL S| 4F1HHVD FHL NIHM LVHL OS 10d TIVOIY IHL 1SNCAv "SNIAvy 43N0LSND

JHL SY3IN3 LI 340439 MO OLNI ¥0VE S14IHS d3144vO 3HL 1VHL OS 1Od HOIH 1SNrav "MO01dIV 3HL 40 LNO S3IN0D LI 4314V
a33dS HOIH OLNI S14IHS 11 ‘3AISLNO FHL OL IAISNI IHL NOHH ONIMIAVHL SI ¥3IHHVI IHL NIHM LVHL OS 10d AN3S IFHL LSNcav
'NOILISOd ISIMMO0TI-43LNNOD TINd IHL OL AVM IHL TV GININL SLOd HOIH ® “T1vO3d ‘AN3S HLIM LHVLS ‘SINIOd 14IHS 13S OL

O| O

)

an3s 1vo3d

HOIH

ANIL V 1V NdNL 8/T LSNCaAv

S10d 1dIHS

ONILLIS HOLIMS dId

‘d3LVAILLOVIA S| IXNVYE LVHL ONILYOIANI NO 3NOD

TTIM T04.LNOD IMvHd NO a31 "INIHOVIN ONIOOOr 340434
d3SS3dd3A SINOLLNG ISVYITIH INVHE LVHL FINSNI

Q TTOEBOYO/N/d
10YLNOD INvHd 00
‘00 1d4vdovavd

5

£t}

sa va €1 za 1@

10448

O+

06L-ATd

SLS-UWHX

EXPERERER]
OLHSNd

>

@]

ﬁ

NO % 340 ¥3mod

13s34 oL
NO Yove
/" 440 NdNL

anas

=<

AN

ATINO V3dV SIHL NI d33dS HOIH

HOIH OL MO INIOd LdIHS T1v03d

HOIH OL MO LNIOd 14IHS AN3S




Carrier Installation Diagram

Depress lever
until it contacts
the Carrier bottom
and secure it
there before
inserting tape.



Stabilizer Adjustment Procedure

MAX GAP
K 1/32"
@’/7/ / 0 -
X " J W ’
N E i P ,
'&.n Figure 2

2,

/—\ MAX GAP
/\ o 1;’32"7
]

ﬁb /_\ ) oy /LI 77 |
Y B 24 2%
S / Q S ~

o - wal D
% Q \%
\./ i 0

¢ Figure 3
CC STABILIZER GAUGE Q
PN: 04233011 ™~
Figure 1 ™~

(if needed)on both ends of machine prior to
installing car. The car WILL NOT function properly
@ unless all FOUR stabilizers are set to proper height. e

' Stabilizer height must be checked and adjusted '

1) Use stabilizer %cuge as shown to verify height of stabilizers. Ensure the gap
shown in Figure 2 and Figure 3 Does Not Exceed 1/32". Check the stabilizers in
two locations as shown in Figure 1.

2) If stabilizers need adjustment please call us: 1-800-937-3322

PN: 00747011



Door Adjustment Procedure

HOME POSITION - LEFT TO RIGHT DOOR ADJUSTMENT:

1) Car MUST be off stabilizers, either at the customer end or off the track entirely.

2) Remove Car Cover (6 screws on side, 3 screws on top).

3) Remove door close sprir;:?_

4) Loosen, and fully back off all 4 jam nuts on each door arm. Use a 5/16” wrench on the nuts and a 1/4"
wrench on the pushrod wrench flats. See diagram for Right hand and Left hand thread positions.

5) Insert 1/8" pin into Home Position hole of the magnetic overrun assembly. Push pin thru both plastic
arms.

6) Rotate the assembly until the pin drops into the 1/8" Home Position hole. DO NOT FORCE the
mechanism or pin. If the pin does not find Home Position hole, the door arms may need to be lengthened.
;’)"\Nltlh th(El pin thru all three Home Position holes, adjust the length of the door arms until both doors are
ully closed.

8) Firmly tighten BOTH jam nuts on either end of BOTH door arms.

9) You are now ready to adjust the door travel.

HOME POSITION - DOOR TRAVEL ADJUSTMENT:

1) Install door close spring.

2) Loosen, and fully back off both jam nuts on the Master Door Pushrod. Use a 5/16" wrench on the nuts
and a 1/4" wrench on the pushrod wrench flats. See diagram for Right hand and Left hand thread
positions.

3) Turn the Master Door Pushrod in the appropriate direction to decrease its length until the Input Arm
rotates freely upward.

4) Turn the Master Door Pushrod in the opposite direction to increase its length until the lower corner of the
Input Arm contacts the back of the car body. (See diagram below)

5) Firmly tighten BOTH jam nuts on either end of the drive arm.

6) Remove Pin from Home Position holes.

7) Reinstall Car Cover.

8) Verify the doors open past 90 degrees and close fully when installed on the machine.

RH 6-32 Jam Mut

(5/16" wrench) Right Door Pushrod

RH 6-32 Jam Nut
(5/16™ wrench)

Master Door Pushrod

LH 6-32 Jam Nut
(5/16" wrench)

Tools
Required:
3/16” wrench
5/16” wrench
Philips: #1 & 2

LH 6-32 Jam Nut
(516" wrench)

Home Position Holes (3)

Input Arm

Door Travel Adjustment:
1) Decrease length of Master Door Pushrod

until Input Arm rotates freely upward

2) Increase length of Master Door Pushrod
until corner of Input Arm contacts
back of car body

When retightening jam nuts
ensure flat surfaces of
both rod ends are parallel



—

Tape Mounting Diagram

1 HOLE

T

a

23 HOLES

? \

-

-

&
@

O

©

5 HOLES

=
-
O
-
-

—

N——

START FAR END
OF NEW TAPE
IN MACHINE

(= #3-32 X 15/16"
TRUSS HEAD
@ WITH LOCKING
PATCH
mg ~
=N #8332 X114
-~ SS TRUSS HEAD
WITH LOCKING
- PATCH

MAGNET

1 HOLE






	G-CAR
	G-Car Tune-Up
	Table of Contents
	Cautions
	Scope of Work
	Inspection of the Captive Carrier TransTrax(





[image: image4.png]23 HOLES

/\ START FAR END
OF NEW TAPE
IN MACHINE

2N

1 HOLE
( #8-32 X 15/16"
TRUSS HEAD
| WITH LOCKING
\ PATCH
m o #8-32 X 1-1/4”
SS TRUSS HEAD
WITH LOCKING
PATCH
L
il A
X \. u ./
! AN (

5 HOLES

\ \MAGNET
1 HOLE

e

{ooow@a@@o






G-CAR

Tune-Up Manual

[image: image5.png]HOME POSITION - LEFT TO RIGHT DOOR ADJUSTMENT:

1) Car MUST be off stabilizers, either at the customer end or off the track entirely.

2) Remove Car Cover (6 screws on side, 3 screws on top).

3) Remove door close spring.

4) Loosen, and fully back off all 4 jam nuts on each door arm. Use a 5/16” wrench on the nuts and a 1/4"
wrench on the pushrod wrench flats. See diagram for Right hand and Left hand thread positions.

5) Insert 1/8" pin into Home Position hole of the magnetic overrun assembly. Push pin thru both plastic
arms.

6) Rotate the assembly until the pin drops into the 1/8" Home Position hole. DO NOT FORCE the
mechanism or pin. If the pin does not find Home Position hole, the door arms may need to be lengthened.
7) With the pin thru all three Home Position holes, adjust the length of the door arms until both doors are
fully closed.

8) Firmly tighten BOTH jam nuts on either end of BOTH door arms.

9) You are now ready to adjust the door travel.

HOME POSITION - DOOR TRAVEL ADJUSTMENT:

1) Install door close spring.

2) Loosen, and fully back off both jam nuts on the Master Door Pushrod. Use a 5/16” wrench on the nuts
and a 1/4” wrench on the pushrod wrench flats. See diagram for Right hand and Left hand thread
positions.

3) Turn the Master Door Pushrod in the appropriate direction to decrease its length until the Input Arm
rotates freely upward.

4) Turn the Master Door Pushrod in the opposite direction to increase its length until the lower corner of the
Input Arm contacts the back of the car body. (See diagram below)

5) Firmly tighten BOTH jam nuts on either end of the drive arm.

6) Remove Pin from Home Position holes.

7) Reinstall Car Cover.

8) Verify the doors open past 90 degrees and close fully when installed on the machine.

RH 6-32 Jam Nut
(5/16" wrench) Right Door Pushrod

RH 6-32 Jam Nut
(5/16" wrench)

Master Door Pushrod

LH 6-32 Jam Nut
(5/16" wrench)

Left Door Pushrod ‘! <

~Y

Tools
Required:
3/16” wrench
5/16” wrench
Philips: #1 & 2

|
1/4" Wrench Flats—|

LH 6-32 Jam Nut |
(5/16" wrench) —

Home Position Holes (3)

Input Arm\

Door Travel Adjustment:

1) Decrease length of Master Door Pushrod
until Input Arm rotates freely upward

2) Increase length of Master Door Pushrod p
until corner of Input Arm contacts When retightening jam nuts

back of car body ensure flat surfaces of
both rod ends are parallel







E. F. Bavis & Associates, Inc.


201 Grandin Road


Maineville, Ohio 45039


(513) 677-0500


Copyright 2011 E. F. Bavis & Associates, Inc.
Revised 02/02/2011

All Rights Reserved                                                                                                                              P/N 00611021

G-Car Tune-Up


Table of Contents


Cautions
1


Materials List
1


Scope of Work
2


Instructions 
3, 4

Tape Preparation Diagram
4

Shift Point Adjustment Procedure
5

Carrier Installation Diagram
6

Stabilizer Adjustment Procedure
7

Door Adjustment Procedure
8 


Tape Mounting Diagram
9

Cautions

Do not lubricate the tape or tape track with anything.  Using WD-40 or equivalents will permanently damage the machine.


Do not remove the drive motor from the vertical tube.  This manual details the proper method for removing and replacing the drive tape.


Do not use tape to hold the brake release button down for long periods of time.  This will cause overheating and possible damage to the brake.


Use the proper screws as described in the instructions.


Install screws in all of the original factory locations.


Bill of Materials

		00611021

		                   G Car Tune-Up Instructions

		1



		00750011

		G Car Manual

		1



		02908213

		Screw-In Mic Windscreen

		1



		04071011

		CC “O” Ring

		2



		04088051

		G Car Liner Top & Bottom

		2



		04167012

		WG Lubricant Warning Label

		1



		04191011

		Blue / Green Grease

		1



		06820191

		CC Tape Cut to Length

		1



		93152724

		8-32 x 15/16 W/ Locking Patch 

		2



		93202723

		8-32 x 1-1/4 W/Locking Patch

		2



		95005071

		¼” E Clip

		2





Scope of Work

                    For a standard tune-up, the following work needs to be done:


                                            Inspect the machine.

                                  Remove and replace the drive tape.

                                      Clean and lube where needed

Inspection of the Captive Carrier TransTrax(

Inspect the machine for visible signs of damage. 


Does the carrier travel in slow speed on the vertical, the turn sections, and the airlock?  

Does the carrier travel in high speed in the horizontal section?  If it does not, please see the service and installation manual for instructions on how to adjust the speed shift points.


Are the ceiling trims anchored to the ceiling? 


Does the carrier stop properly on the inside, at car and truck on the outside?


Any unusual noises?


If there is damage or problems please consult with the factory.  The telephone number is (800) 937-3322


Instructions

1. Remove the flat head screw(s) that hold the speaker panel to the customer vertical tube.  The speaker panel can hang by the speaker lead.


2. Go inside and send the carrier to the car position outside.  Turn the power off on the inside control assembly.


3. Open the right door of the inside vertical standoff.  The door is hinged; removing the two screws will allow the door to open.


4. On the front side of the tube, insert a screwdriver into a slot in the drive tape.


5. Press and hold the brake release button on the brake board located on the right door of the inside vertical standoff (see page 5).


6. Push up on the screwdriver pushing the tape up.  Observe the carrier outside as it lowers.  Do not let the carrier hit the island.  Do this until the carrier disengages the drive sprocket.


7. Go outside and pull the drive tape completely out of the unit.


8. Remove the screws that attach the carrier to the drive tape

9. Check the stabilizer adjustment (see page 7).

10. Remove the “E” clips that hold the large tape block assembly in place. Remove the assembly by twisting it diagonally in the bracket and then gently bowing the end of the bracket away from the end of the axel until it is free.


11. Remove the brass wheels from the tape block assembly. The axles should be cleaned and lubed with the blue/green grease provided. 


12. Replace the old “O” rings with the new ones provided. Put the brass wheels back on the tape block and make sure that the wheels spin freely.


13. Reassemble the tape block assembly to the car. Refer to the diagram on the bottom of the car so that the tape block assembly is in the right direction. Bow the end of the bracket and slide the tape block in diagonally until it snaps into place. Reinstall the “E” clips provided.

14. Inspect the carrier for worn or damaged parts. If the car doors need adjusting, please refer to the instructions on page 8. If the liners are damaged, replace them with the ones provided.

15. Use the old drive tape to measure and cut the new drive tape.


16. Bevel the ends of the new drive tape with a file (see the diagram on page 4).


17. Mount the carrier to the new drive tape.  See page 9 on how to do this.  Make sure that the tape block holes are not stripped out.  If they are, consult the factory for new tape blocks.


18. Feed the new drive tape back into the unit until you feel the drive tape stop.


19. Go to the inside and press the power button of the inside control assembly on.


20. Insert a screwdriver into a slot in the new drive tape.


21. Press and hold the brake release button on the brake board.


22. Pull down on the screwdriver feeding the tape around the drive sprocket.  Continue to do this until the carrier is resting on the stabilizers outside.  Be careful that the carrier is not caught on the speaker lead. Also make sure that the carrier lever is pushed in to allow the carrier to be up the customer unit past the outside stabilizer (see the diagram on page 6).


23. Recall the carrier.


24. Run the machine and observe for proper operation.  Note: If the carrier started out above the stop switches, it will not shift into high speed.  Simply run the carrier again and it should change speed.


25. Check the shift point adjustment (see page 5).


26. Replace the customer speaker panel and close the right standoff door.

27. If the unit does not have a lubricant warning label on the inside vertical control, Install the one provided with the kit.



[image: image1.wmf]TRIM AND THEN REMOVE


BURR FROM CUT EDGES


TAPE PREPARATION


TAPE-FINISH END


(BOTH ENDS OF TAPE)


TAPE-CLEANING END


USE ONLY FOR CLEANING BEFORE THE NEW TAPE


IS INSTALLED, THEN RESHAPE TO FINISH END.





Shift Point Adjustment Procedure



[image: image2.wmf]RECALL SHIFT POINT LOW TO HIGH


HIGH SPEED IN THIS AREA ONLY


SEND SHIFT POINT LOW TO HIGH


TO SET SHIFT POINTS;


 START WITH SEND, RECALL, & HIGH POTS TURNED ALL THE WAY TO THE FULL COUNTER-CLOCKWISE POSITION.


ADJUST THE SEND POT SO THAT WHEN THE CARRIER IS TRAVELING FROM THE INSIDE TO THE OUTSIDE, IT SHIFTS INTO HIGH SPEED


AFTER IT COMES OUT OF THE AIRLOCK. ADJUST HIGH POT SO THAT THE CARRIER SHIFTS BACK INTO LOW BEFORE IT ENTERS THE


CUSTOMER RADIUS. ADJUST THE RECALL POT SO THAT WHEN THE CARRIER IS TRAVELING FROM THE OUTSIDE TO THE INSIDE,


IT SHIFTS INTO HIGH SPEED AFTER IT COMES OUT OF THE CUSTOMER RADIUS. OBSERVE THAT THE CARRIER SHIFTS BACK INTO


SLOW BEFORE IT ENTERS THE AIRLOCK. READJUST AS NECESSARY SO THAT THE CARRIER IS IN HIGH SPEED ONLY IN THE


HORIZONTAL SECTION BUT NO IT THE AIRLOCK OR RADIUS.


USE THE JOG TO RUN CAR IN AND OUT TO SEE IF CAR OR TAPE IS HANGING ON TRACK OR OTHER OBSTRUCTIONS


CAR WILL ONLY RUN LOW SPEED IN JOG MODE.


RLY-T90


LED1


FABACRAFT CO.


CC BRAKE CONTROL


P/N/04083011


D1


C


T1


K1


D5


+


-


D3


D2


X9


D4


X8


1


XFMR-ST5


X11


X10


NC


NO


D6


PUSH TO


RELEASE BRAKE


KS11


X6


X7


R1


X5


INSURE THAT BRAKE RELEASE BUTTON IS DEPRESSED


BEFORE JOGGING MACHINE. 


LED ON BRAKE CONTROL


 WILL


COME ON INDICATING THAT BRAKE IS DEACTIVATED.


DIP SWITCH SETTING


NORMAL SETTING BOTH


SWITCHES SET TO OFF


HIGH


RECALL


SEND


RUN


SHIFT POTS


ADJUST 1/8 TURN AT A TIME


WATCH DOG TIMER


45 SEC. MAX SET 10


SEC ABOVE TOTAL


RUN TIME


TURN CW TO INCREASE RUN


AND CCW TO DECREASE RUN


SEND


OUT


IN


SEND


RECALL


5 AMP


BREAKER


TURN OFF &


BACK ON


TO RESET


POWER OFF & ON


ON


1


2





Carrier Installation Diagram


[image: image3.png]P

7N

D

J
— e ]

N\

Depress lever
until it contacts
the Carrier bottom
and secure it
there before
Inserting tape.






Stabilizer Adjustment Procedure

[image: image6.png]// MAX GAP
/ , Li 1/32" ]
/ / \
[ o E f
\- Q;/\\\\ ; 2
%EN \\ ; /
QP 0 \§<‘;a b . ,@oﬁﬁw% ,
Ny, Figure 2
ﬁ O
///////—\\\\ MAX GAP
1/32"
<@ 0 ” Z 7
%END ‘ ‘
\) TR AR
TS Q;i/\\\\
® 0 §7§§ <\ b
%g? () N
%/ | 0 \_/@5 77775& %1777‘7 A
o Figure 3
CC STABILIZER GAUGE Q \
PN: 04233011 N ||7£1
Figure 1

(If needed)on both ends of machine prior to
iInstalling car. The car WILL NOT function properly
® unless all FOUR stabllizers are set to proper height. e

' Stabilizer height must be checked and adjusted '

1) Use stabilizer gauge as shown to verity height of stabilizers. Ensure the gap
shown in Figure 2 and Figure 3 Does Not Exceed 1/32". Check the stabilizers in
two locations as shown in Figure 1.

2) If stabilizers need adjustment please call us: ] -800-937-3322

PN: 00747011







Door Adjustment Procedure 




Tape Mounting Diagram










PAGE  

PAGE  



_1278335607.dwg



_1318153691.dwg



